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Question Number : 1 Question Id : 8135611 Question Type : MCQ Display Question Number :
Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

x3—1
j - gy =
x° +x

Options:

1 _
x + log|x| + Elog(_rz +1)4+Sin"*(x)+ec

1. %
1 $ . o B
x — log|x| + Elog(,x' +1)—-Sin""(x) +c
7 ®
1 . . .
x + log|x| — = log(x*+ 1)+ Tan"*(x) + ¢
3, %
1 ; e
x —log|x| + —log(x“+ 1) —Tan™ "(x) + ¢
4. 2

AP EAMCET 2020 _
e collegedunia:

India’s largest Student Review Platform

el



AP EAMCET 2020

Question Number : 2 Question Id : 8135612 Question Type : MCQ Display Question Number :
Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

The values of x at the stationary points of f(x) = x3 + 3x% — 2 are

f(x) = 2% + 3x% — 2 HA00HY DT DotdiPL DG ¥ Dendew

Options:
1.2 0,2

Question Number : 3 Question Id : 8135613 Question Type : MCQ Display Question Number :
Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

The perimeter of AABC 1s 36 cm and its mn-radius 1s 8 cm. Then the area of the triangle 15

ABC 83020009 c‘ngﬁvé 36 cm 08050 7 VoS .3‘53“2:: 8 cm. o, &
SERY) 9?0581‘0 Dodh?
Options:

9
il 144 cm

124 em?
2. %
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164 cm?
3, %

. 104 cm?

AP EAMCET 2020

Question Number : 4 Question Id : 8135614 Question Type : MCQ Display Question Number :

Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

Find the domain of the real valued function f(x) = ([x]?> = [x] — 2)"Y/2. where [ .] is the
greatest mteger function

[x] %036 x dng), (182 rTes DAoabA ArdY f(x) = ([x]* — [x] - 2)77

RTal AW
Options:
.« B (13]
R—[-1,38)
2.
R— (=13
3, % ( )
4 % R —|—1,3]

Question Number : 5 Question Id : 8135615 Question Type : MCQ Display Question Number :

Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical
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Find the value of ‘k, if the angle between the straight lines represented by 2x? + 5xy +

3y2 4 6x 4 7y + 4 = 0is Tan (k)

20% + 53y + 377 4 61 + 7y + 4 = 0 2086050 rdodd v Socsj Eeasdo Tan™ (k)
0NN, k" DLV dodh?

Options:

Question Number : 6 Question Id : 8135616 Question Type : MCQ Display Question Number :
Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

The roots of the equation |x* — x — 6] = x + 2 are

X2 — x — 6] = x + 2 DASCEAD CNE), JUreTLD BLVLHIW.

Options:
-1‘ ® _2, 1_. 4.'
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., 0, 2, 4

3 % 0, 1,4

so=224

Question Number : 7 Question Id : 8135617 Question Type : MCQ Display Question Number :

Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

Let a, b, ¢ be real numbers. A set formed with a, b, ¢ whose order of occurrence is
preassigned 1s called

a,b, c TS Ro[e0 o, a,h,c © & SrED DS’ T8 SEHRSAAD ST

QoBotdec. G ) NS & DD 0.
B g

Options:
An ordered triad

| o S20a82

An ordered pair

. SS0as0e) S0
2. %

Both ordered triad and ordered pair

L, SOOBSIW 208050 SRV 20

None of these options are correct

4 % O BT DOALIG S°W
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Question Number : 8 Question Id : 8135618 Question Type : MCQ Display Question Number :
Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

If 3f(x) — 2f (f) — x . then f'(2) is

3f(x) — 2f (3) = x wawd, f'(2) =

Options:

Question Number : 9 Question Id : 8135619 Question Type : MCQ Display Question Number :
Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

EZ

dx B
j x(1+logx)?

1

Options:
2

1. 3
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Question Number : 10 Question Id : 81356110 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

.thena =

3 2
The constant term in the expansion of (g + -+ \/i ) 18 a;
X
X 1 (=g 5 a ﬂ\ﬁ
(-2- + 2 +V 2) QRGeS DODEI 5 IO, a@ DD
Options:

% 7

Question Number : 11 Question Id : 81356111 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :
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18 T
cos?(x) + cos? (1‘ - §) + cos? (x _E) -

Options:
3

2

T

Question Number : 12 Question Id : 81356112 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

If one end of diameter of the circle x? + y? — 4x — 6y + 11 = 015 (3,4). then the other end
of the diameter 15

Pyl —dr— 6y +11=0 gD w8 ToAw dg) w8 §9 Doy (ean) (3,4)

9000 Totéed 58 Dothhy) AErHETL) SAVH WS 7

Options:

p, w Ll

3. (1.2)
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4 % K540)

Question Number : 13 Question Id : 81356113 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :
Vertical

cos 48° .cos 12° =

Options:

(-3)
1. % 8

(3 + \E)

Question Number : 14 Question Id : 81356114 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

If sin(@) + cosec(@) = 2 . then sin®%*°(8) + cosec®*?°(8) =

sin(8) + cosec(8) = 2 eand. sin“’*°(8) + cosec?*?°(89) =

Options:
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22020

1. %

5 x 2020.2%0%

22019
3.

Question Number : 15 Question Id : 81356115 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

Assuming |x| to be so small. that x and higher powers of x can be neglected. then
Vitx+(1-x)%2
(1+x) +V1+x

VIdx +(1-2)%%

X2 e x T &L ST x| D AYS.

(1+x) +VT¥x
Options:
Sx
14—
%4
3
Fisre
2.« 4
y.3 4x
3. % >
4x
l L —
4. % -
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Question Number : 16 Question Id : 81356116 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

How many bijections f:Z — Z are there such that f(x + v) = f(x) + f(y) forall x,y € Z?

f:Z-T 0% flx+y)=f(x)+f(y) xy €L donodn Jtdousd Bes
2e00DE R0

Options:
One

| ow 288

Two
Cotd

Three
PO o

Infinitely many

4 o BDBBD

Question Number : 17 Question Id : 81356117 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical
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The matrix 4 = 18

o A IS

1 1
V2 V2
4. =3
V2 V2
Options:

Unitary

- D& So&s

Orthogonal

5 x Qo

Nilpotent

3 38D

Involutory

8
i CINNILCF

Question Number : 18 Question Id : 81356118 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

The length of the latus rectum of the parabola 169{(x — 1)* + (v —3)%} =
(5x — 12y + 17)% is

169{(x — 1)* + (y — 3)?} = (5x — 12y + 17)? Ho5005rA8 T ot JE)
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Question Number : 19 Question Id : 81356119 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

1
If tanh(x) = 3 then tanh(3x) is

. 1 |
tanh(x) = B 900 tanh(3x) Dewd

Options:

1. %

2.9

8

9

7
9
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mlt-q

Question Number : 20 Question Id : 81356120 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

A square 1s formed by the lines x = 0, y =0, x = 1, y = 1. Then the equations of its
diagonals will be

x=0,y=0, x=1 y=108208 a8 580680 D6\ES, & 70 VAEOTeL

Options:
w V=X, XxX+Yy=
R
2 Fy=m
Yy=X,XxX+y=-—
2. ¢
o= O | e
3' v’? } ' + _}
2 + -
y=aX, X+y==—
4. % *

Question Number : 21 Question Id : 81356121 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

The equation of a circle with centre (5, 4) and touch the y-axis is

y-o%) D) (5,4) So@aorT (o 58 DAEEEIA
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L X2 4+y2—10x -8y —16=0

1. %
_x2+y?—10x—8y—61=0

2‘ ® ut "

i x2+y2+10x+8y+16=0

" o X*+y*—10x—-8y+16=0

Question Number : 22 Question Id : 81356122 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

Let X be a random variable such that X(x) 1s the number of heads in X for each x € §, where
S 1s the sample space of random experiment of tossing three fair coins simultaneously. Find

the value of P(X e (2))

SUPE) THEANVN 28 STVANS’ G SVIYE Tod 838! S X:S - R & X(x) =
90 1 €5 % DE )0 Poay LAY P(X71(2)) ded

Options:
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Question Number : 23 Question Id : 81356123 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

If p and q are lengths of the perpendiculars from origin to the lines x sec(f) + vy cosec(f) =
k and x cos(6) — v sin(8) = k cos(26) respectively. then

xsec(f) + ycosec(f) = k oBadw x cos(f) — ysin(f) = k cos(26) dpos

P00 Aot (L BTN ST p, q L WA

Options:

i p2+4q2:k2
2 22

2'_‘_’,,4,0 +q°“ =k

3 ® p* +q* = 4k?

Question Number : 24 Question Id : 81356124 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

If x>+ y?+ 6x + 2ky + 25 = 0 to touch y-axis. then k =

x® 4 y? + 6x + 2ky + 25 = 0 S0 y-0o=d) DI k =

Options:
+ 20

1. 8
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Question Number : 25 Question Id : 81356125 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

Find the number of ways of selecting 4 pens and 3 pencils from a packet of 8 pens and 5
pencils,

8 e dadw 5 ZJ:)D#OJ (o 28 5%‘3 Dol 4 SwA0L S80dw 3 :::)ng D«‘\‘x}lgf}
DTN N

Options:
1.« 700

Question Number : 26 Question Id : 81356126 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical
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DDAV 28

x3—-3x+2

Options:
Proper fraction

| % S z',')&‘:lap

Improper fraction

5 29080 abélm

Mixed fraction

D30 D) S0
3. %

Not a fraction
e‘_.')élnn S°¢)
4, %

Question Number : 27 Question Id : 81356127 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:
Vertical

In how many ways one can send 6 new-year greeting cards to 4 people?
§9 VoD TS 0L B STAW 6 EA)D. TE 4 M LAV Y
D00 202)TVNAD

Options:
1. ¢ 360

, % 180
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Question Number : 28 Question Id : 81356128 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

If [a, b] 1s the range of the function

x+2

X € R,

Options:

2x243x+6

*~42
2x24+3x+6

WwE); T2 [a, b] oD

for x € R. then

Question Number : 29 Question Id : 81356129 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical
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The point on the circle x* + y? = 4 whose distance from the line 4x + 3y — 12 =01s
4/5 units 1s equal to

4
4x + 3y — 12 = 0 268 K00k % 0SaPL) GrBod” Gotar, X2+ y2 =4 S0 Gl
Do)

Options:

(12 36)
2 257’ 25

2. % (48]

3.v (2,0)

( —14 48 )

Question Number : 30 Question Id : 81356130 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :
Vertical

Let a, b and ¢ be the lengths of the sides of a triangle with its opposite angles A, B and C

c(a+b)+(a’+b?)
(b+c)(cta)

respectively. If 2C = 60°. then the value of

BZLRANG'D ZhHRa0w TEYW a,b, ¢. 8 HBAVVL JDTRDY E'e0000 SR

c(a+b)+(a®+b?)
A, B,C o 0ok 40 = 60° 0w,
(b+c)(cta)
Options:
1
T ™ .
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Question Number : 31 Question Id : 81356131 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical
If f(x) is a polynomial of the second degree in x such that £(0) = f(1) = 3f(2) = 3. then

f(x)
J -1 =

, G R B f(x)
fx) w8 25 3668 dardo ®ow. f(0) = (1) = 3f(2) = -3 wand, 23 dx =
Options:

x%4+x+1 1 —1 {2x+1
lo (r-——) — Tan 1( ) c

_ & |x—1]| . V3 V3 +
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Question Number : 32 Question Id : 81356132 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

If x € R, then one of the solutions of Vx 41— |x."'_r - 1| = v4x — 1 among the following 1s

¥ € R 0o0d, $8° Vi +1- [Vx— 1| = Var — 1 £ 28 ¥F6d

Options:
5
=
1. 4
—5
=
2. % &
3, 8 B=4
g% ¥ =1

Question Number : 33 Question Id : 81356133 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical
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Letp ,q and 7 besuchthat7 #0, p Xq =7, § X7 =p then

(1) p,q,r are pair-wise orthogonal vectors

@ lgl=Irl=Ipl
Options:
(1) 1s correct, (11) 1s incorrect

|y ()RS0, (i) eRosiin

(1) 1s mcorrect. (11) 1s correct
5 % (1) wé@s&ﬁn. (11) ‘ﬁoejgsi‘m

Both (1) and (11) are incorrect
3 % (1) 0803 (11) O e:}“fbe:rsw

Both (1) and (11) are correct

(1) 0803 (11) eV WSw
4. &

Question Number : 34 Question Id : 81356134 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical
—3
The domain of f(x) = Cos™ (xT) —logyo(4 - x) is
f(x) = Cos™? (%3) ~logyo(4 = x) ™ Aottt HAaHAD dwE), HAFAW

Options:
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, o T2t}
;. u CLB

s

Question Number : 35 Question Id : 81356135 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :
Vertical

2

el X X 1
J(l-l—E-!-z-l- """ | dx =

Options:

log(x+1)+c

%

Question Number : 36 Question Id : 81356136 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical
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Find |@ x b | if|@| =2.|b| =3 and (@, b) = n/6

|a| =2.|b| =3 2080w (a,b) = n/6 o, |¢Tx5|2=

Options:

Question Number : 37 Question Id : 81356137 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

The general solution of cos(x) — sin(x) = 0 1s

cos(x) —sin(x) = 0 £ 3‘65@5 FD

Options:

7T
nmw——, n€Ez
1. ® 4

T
2ne+—, n€Z
4

2. %

-
ne+—, neEi
4

3.+
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Question Number : 38 Question Id : 81356138 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical
n-1
If1,a,a?, ,a™ ! are the n-th roots of unity. then Z = 1s equal to
i=1
n-1
La,a?, e a1 e 9880(1) AVE), 1= SUPVANLD BOR, Z > _1&1. M3V
i=1
Options:
- (n—2)2"

(n—2)2" 141

7?1_1

(n—2)2"1

Question Number : 39 Question Id : 81356139 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

AP EAMCET 2020 _
e collegedunia:

India’s largest Student Review Platform

el



AP EAMCET 2020

Find the solution of the differential equation (e‘v_x)dy = (.:_-?‘“r — i )dx

(e” 7 )dy = (e — ¥ )dx dguD HALCEANDHL FE
Options:
2

1 % e¥e*=e**—e* +c
> % eYeX = eXe® —e® +c¢

r X b
3 e¥e® =e*e® —e® +c
4 % e’ e* = e¥e® —ef + ¢

Question Number : 40 Question Id : 81356140 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

If [x] denotes the greatest integer function on x . then the number of positive integral divisors

of [(2 + \@)Sl is

—5
[x]. x D 688 Pro¢ ALy ARdY. [(2 +13) ] 2 ol (8¢ Qyod
AR50 E‘ooa_)zg

Options:
6

1. %
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Question Number : 41 Question Id : 81356141 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

If a line makes angles @, §, y with the positive directions of x, v and z axes respectively, then
the value of sin & + sin®f + sin’y =
28 B9 1,7,z 00 G830 35 Seren S0 @, B,y o, sin®a + sin® f + sin’y =

Options:

Question Number : 42 Question Id : 81356142 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical
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r—3 2x*=18 3x*-81
x—5 2x2-50 4x3-500
1 2 3

Iff(x) = cthen f(1)f(3) + fB)f(5) + f(5)f (1) s

equal to

-3 2*-18 V-8
f)=|x-5 2x* =50 4x*-500|®ws, f(1)f(3)+f(3)f(5)+f(5)f(1) =
1 2 3
Options:
e fD
, o ¥(3)

L« FD+F3)

o x FA+FE

Question Number : 43 Question Id : 81356143 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

Foci of the ellipse 2x* + 3y® —4x — 12y + 13 = 0 are

2x% +3y° —4x — 12y + 13 = 0 &¢Sdo BE), Tz

Options:

. (1 +%,2) & (1—\%,2)

(5+12) & (3-1.2)
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Question Number : 44 Question Id : 81356144 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical
0 W 3 ifk €N
T 1
kENs‘ok5+k3+ - s
20
5 3 15k

Options:
A natural number

, DT Doy
1. ¢

An integer

28 QPT 0SB

A positive fraction
2 % 28 @v@és e;)a‘aclan

Equal to zero

& -‘:‘M‘%Sa S0 RadT°No
4, %
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Question Number : 45 Question Id : 81356145 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

The equation of the circle passing through (0, 0) and which makes intercepts a and b on the
co-ordinate axes is

SroDotidy) Mot J'Er, IFISTUR a LB b WedGRE-LR 60D S)d

2208680
Options:
i 2 +yi+ax+by=0
5 % x2+y*+ax—by=0
3 ® -1'2 ¥ }"2 — ax + b}’ = {J
i x*+y>—ax—by=0

Question Number : 46 Question Id : 81356146 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

If pairs of straight lines x* — 2pxy — y* = 0 and x% — 2qxy — v* = 0 be such that each pair

bisects the angle between the other pair. then

x? = 2pxy — y? = 0 800 ¥* — 2qxy — y* = 0 &R0 ROV Sarasurr)en H6Rydo
RDAIDOCR BROE 08008, 6

Options:
% Pg=1
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, % PA=2
3, 8 BE=E
iv TS

Question Number : 47 Question Id : 81356147 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

If P and Q are square matrices such that P2%¢ = 0 and PQ = P + Q then det(Q) will be

P26 0 po =P 4 edbier P. @ w0 86y Srgsw wowd. det(Q) =

Options:

1.-v’0

1 only
1 3G

—1 only
—1 S0

Question Number : 48 Question Id : 81356148 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:
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2 tan(x)
- 5 H=
1+ 2tan“(x)
Options:
log |cos? x 4 sin? x| + ¢

1. %

cos? x

2

log
Y

+ sin? x\ + c

sin? x

log ‘cosz x + + ¢
3, %
cos’x . sin®x
log : =1 TG

4, ®

AP EAMCET 2020

Question Number : 49 Question Id : 81356149 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

If 6 € [— g—, g—], then Cos ™ (sin 8)is equal to

6 € [_§’§] 002 Cos™*(sin f) =

Options:
T
——6
1.¢ 2
(4
-
2.8
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—+6
3. ™

L8

s
4, % ¢

Question Number : 50 Question Id : 81356150 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

Ifa=ai+3] —6kandb =27 — j + B k then the values of a, f so that @ & b may

be collinear are

T=ai+3] —6k0a b =27 - ] +f k 2630 ddredoen € a,f

2RI
Options:
. x (5:3)
2. % (6,2)
3% (2,-6)
s, v 62D

Question Number : 51 Question Id : 81356151 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical
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If 2¢ =-1-iv3and 28 = -1+ iv3then 5a* 4+ 58* + 7a *p is equal to

20 = —1 — V3 &08atw 28 = -1+ iV3 wawd, 5at+58* + 7a"1f7! Dewsd

Options:

AP EAMCET 2020

Question Number : 52 Question Id : 81356152 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

The direction cosines of the line which 15 perpendicular to the lines with direction cosines

proportional to (1,—2,—2) and (0, 2, 1) is given by

(1,-2,-2) So8as0 (0, 2, 1) en &8 0 o VBN Bocotdd LotorT God

RO¥8 as) B S

Options:

AP EAMCET 2020
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—

(£, 2, 2)
2 —4 2
" -8

Question Number : 53 Question Id : 81356153 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical
X
T o — t'fdr wat?
1€ value o1 X thart satisiies tne equatnon = 1S
e V=1 12
X
f i T R DHoth® OB x Densd
— - (@] o) X
*z'fl $2 -1 12 A] d
2 ey
Options:
1
1. &
2 % 0
A
3.%
4. -

Question Number : 54 Question Id : 81356154 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical
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The angle between the lines 2x + 11y —7=0andx+ 3y +5=01s

2¢+ 11y =7 = 0 080w x + 3y + 5 = 0 B0 Socsj Seadw

Options:

op (17)
Tan —
. 13

4
-1 i
Tan (35)

2™

Question Number : 55 Question Id : 81356155 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

The value of *k” so that the line y = 2x + k may touch the ellipse 3x + 5y* = 15 is

3x% +5y° = 15 8658 y = 21 + k D6¥0 0y)3008 k" Jesd

Options:

—
1‘\‘,,,,,i\;Z

I+

> » V13

xﬁ

[ep

3. ™
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|-
<
]

Question Number : 56 Question Id : 81356156 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

Let a,b,c be three vectors
i) (axb)xe=(a@.c)b—(b.c)a
) (@)x(bxc)=(a.b)c—(a.c)b

a,b,t 2O
i) (@xb)xc=(@.c)b—(b.0)a
) (@)x(bxe)=(a.b)e—(a.c)b
Options:
(1) 1s incorrect. (11) 1s correct
1) RS, (11) DS
;g SAFERER (11) RS
(1) 1s correct. (11) 1s incorrect
§ (1) RS(A0. (11) DRG0

Both (1) and (11) are correct
3 ¥ (1) So8a3L (11) e RG{B0D

Both (1) and (11) are incorrect
n (1) S0Ba (11) e ISR LY

Question Number : 57 Question Id : 81356157 Question Type : MCQ Display Question Number
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: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

f(1-x4x9)Y0 =ag+ax + apx® + -+ azox® then 2a, + 3a; + 4a4 +

(1-x+ x50 =ap + ax + a0 + 4 ay0*® ©aI. 2a, + 3a; + 4ay +++ 2005 =

Options:
0

1. %

10

3.v <0

, =i

Lo -I_ 20@20 =

Question Number : 58 Question Id : 81356158 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

d
If v = sin?®(x) .cos*?(x) . find di

dV

y = sin”2(x) .cos>?(x) Lo, — .
X

Options:

(98 cos”? x.sin*® x) + (39sin*® x. cos?” x)

o (99 cos™ x.gin?’ x) — (404in™ x. cos™ x)

99 9?)

3 @ (98 cos”” x. sin38 xX) — (395111 X.COS
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v (99 cos?® x.sin3? x) + (39 sin*? x. cos?” x)

Question Number : 59 Question Id : 81356159 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

The derivative of Tan™ L+

& 1
Sec 1(
2x2-1

Options:

z
1+y1-x2

Doahaw e Tan™

. g ¥
]wﬂh respect to Sec 1( )15

2x%-1

] 2a0012Y) 995VAAVA S AW

Question Number : 60 Question Id : 81356160 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical
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For a triangle with the sides of lengths 6. 5 and 9. the radius of the mn circle 15
RIS’ ZoRAVL TEHeD 6,5 S0Ba%0 9 W), HZHREW a3E), Wods Sy
TG0
Q
Options:

V3

Question Number : 61 Question Id : 81356161 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :
Vertical

[
If a+ bi =: , then (a,b) =

l
a + bi :T o, (a,b) =
—1

Options:

AP EAMCET 2020
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Question Number : 62 Question Id : 81356162 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical
ABC is a right-angled triangle in which max{AB, BC,AC} = BC.If the position vectors of B
and C are respectively 371 — 27 + k and57 + 7 — 3k then AB.AC +BA.BC +
CA.CB =

ABC 28 ot Gzbadn. OB, BC, AC} = BC 08000 B, € Hotodo Farbsen

36037 —2] + k 208050 51 + ] — 3k ©awd. AB.AC + BA.BC + CA.CB =
Options:

28

i

Question Number : 63 Question Id : 81356163 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:
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Vertical

If the lines 3x + 4y — 5 =0.2x 4+ 3y — 4 = 0 and px + 4y — 6 = 0 all meet at the same
point. then p 1s equal to

3x+4y—-5=10,2x+3y—4 =0 200080 px + 4y — 6 = 0 00 NS oS p =

Options:

1, % —2

Question Number : 64 Question Id : 81356164 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

Ifa >0, n €R.then limx™ =
X0

a>0 nERSDIimx"=

A0

Options:

n
1 na

= n
5 ® (n—1)a

n-1
3 » Na
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Question Number : 65 Question Id : 81356165 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical
e
J x%(sinx) dx =

—

Options:

2
2

2. %

Question Number : 66 Question Id : 81356166 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical
Find the solution of the following differential equation

208 9ILLD DANEGETIE D BODd

{x COS (;) + v sin (f)} ydx = [}r sin (;) — X COS G)} x dy

Options:
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X COS (1) — s v -
2, % ""

XV COS (i) =g
3. ¢ :

ool JON- - —C

,1_1-13111( ) =te
4, % ®

Question Number : 67 Question Id : 81356167 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

The function f(x) = (1/2)* on R is

R 208 f(x) = (1/2)* $H300080

Options:
Strictly decreasing

OGS 958 e
1. & @

Strictly increasing

B0 38 I3
2.8 =

Decreasing
. 0B Tredw
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Neither increasing nor decreasing
38737692900 S°E0 0998730690 ST

Question Number : 68 Question Id : 81356168 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :
Vertical

If the pair of straight lines 6x® — 5xy + y* = 0 makes angles « and § with the x-axis. then

tan(a — ) =

6x% — 5xy + y% = 0 2aE6t0 Ardotd Snen 1- vfed «. f Erren B9, DN
tan(a — ) =

Options:
2

1. ™

Question Number : 69 Question Id : 81356169 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical
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x n y n
The slope of the tangent of the curve (E) + (ﬁ) =2 at(31,1209)

. Y n y )ﬂ
(31,1209) Dot 58 (31) + (1209 = 2 335°8 v 26,08 T

Options:
1.@ =89

Question Number : 70 Question Id : 81356170 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

Tangents are drawn to the hyperbola x* — 9y? = 9 from point (3, 2). Then the area of the

triangle formed by the tangents and the chord of contact is 8q. units

(3,2) Dotood 1% — 9y? = 9 BHTSwALrIS Hy6 Baren Hobed.d. &

)6 808 &, 06y &) SA> D6yE G508 PTURW (3E36:Y) 0K

Options:
10

1.8
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Question Number : 71 Question Id : 81356171 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

If the standard deviation of the numbers 2,3, 2x and 11 15 3.5 . find the possible values of x.

2,3,2x 208050 11 © FAreds Ddwda0 3.5 008, T 5 NoZd 2ede

Options

25

7

2

Question Number : 72 Question Id : 81356172 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical
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. dy
xR pe008 — (x5 )W099 thena =

X IO, — =

dy
2019 },2020 = (x + _}’)4039 g
X

Options:

Question Number : 73 Question Id : 81356173 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

A bag consists of 3 red balls, 5 blue balls, and 8 green balls. A ball 1s selected at random.

What 15 the probability of not getting a blue ball?

208 008" APE DB, BANE o BAH AN ST WoBIRW ED) .
QTGRS0 28 208 GBI, BB o LB BIEE" God Rozr(S

Options:
11
.o 2B
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Question Number : 74 Question Id : 81356174 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

If y=5x%+6x+6.x=2. Ax = 0.001 then value of dy is

y=5x*4+6x+6x=2, Ax = 0.001 2005 dy Dend

Options:

. o 0026

0.0026

0.062

. 0.0062

Question Number : 75 Question Id : 81356175 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :
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Find the value of m + n if the circumference of the circle x> +y*+8x+8y—m=01s
bisected by the circle x* + y2 —2x + 4y +n =0

x4yt =20+ 4y +n =0 3w x* 4y + 81 4 8y — m = 0 ) DAL
W B M + N D

Options:
1, v 96

2. % 96

50

. —34

Question Number : 76 Question Id : 81356176 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

Find the transformed equation of x cos & 4 y sinf = p. when the axes are rotated through an

angle 6.

AErOTEOR § Eto Zome Sabiio H0 A6\E Ared wx Ghars vcosf+
ysin6 = p 0860 VS KPS ArOID

Options:
. A=
5> % V:P
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Question Number : 77 Question Id : 81356177 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical
If f(x) € Q[x] be a non-zero polynomuial such that all its roots are irrational. then the degree

of f(x) is
() € Q). £(x) wirodsd cing) mrvnnvhl &60% o0 B, f(x) CWS)
S64S

Options:
an even number

ESle) “n:naa's
1.¢

an odd number

£30 JﬂJD&,)}S

can’t determine
. SAHR T

Question Number : 78 Question Id : 81356178 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:
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[sinS(_r) -cos(x) dx =

Options:

- sin*(x) — sin®(x) + ¢

cos*(x) — cos®(x) + ¢

2, -

1 1

—sin*(x) — —sin®(x) + ¢
3.« 4 6

1 1

— cos*(x) ——cos®(x) + ¢
4. % 4 6

Question Number : 79 Question Id : 81356179 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

Find the number of different garlands that can be prepared using 5 different coloured flowers.

5 D) Gorben (o Yiywed doirdd Sobedd D) drov doay

Options:
1 % 120

2.v 60

4.% 9
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Question Number : 80 Question Id : 81356180 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical
: 8 ) 5> x” e e
im — —ER8l = 1— s | Heosl "= 188 - —-

x—0 sin® x 2. = 2 -
Options:

1
1, % 16

1
R
3 % 64

1
4, % -

Physics

Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40
Section Marks : 40
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required?: Yes
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Question Number : 81 Question Id : 81356181 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

Microwaves are used 1n

E SCorrw BIE EOHDIAICO?

Options:
A
S92

1, %

Radio transmission

zéeéédb°gﬁﬂrvsn

Radar
3. v &0

Atmospheric research

, x B TTS0E0 DBTED

Question Number : 82 Question Id : 81356182 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

The lower half of a vessel of depth 2d em 1s filled with a liquid of refractive index py and
the upper half with a liquid of refractive mdex p,. The apparent depth of the vessel seen
perpendicularly 1s

2d cm 6°8) &) @S” 0ot A ePAAw 1y 35330 $9AD GaAwS, D R errand’
Ity S23302830 SDAD §I30F DoDENB. VoS VST AR 3 &5
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Options:

d(#:ﬁz)
pytis

1. %

Question Number : 83 Question Id : 81356183 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

The energy stored in a coil of inductance L. carrying a steady current i 1s n the form

L 968850, i DS Hariran $HAD o Jox ol

Options:
Magnetic

03 08 ¥S
1.¢

Electrical

. QAS 3S
2. %

Both magnetic and electrical

9030, 0S50 HHBAIL DE(S 3S
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Question Number : 84 Question Id : 81356184 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

A resistor of resistance ‘R’ 1s connected between the termunals of a cell of emf ‘E” and
internal resistance ‘r’, If ‘T" is the current through the circuit. The terminal potential
difterence of the cell 1s given by

DB ‘R’ o :)E)GQS‘:)J_ ‘E’ bmﬁwt)vs ROAD. T maalb‘gm; (3 uﬂébﬁé D,
Hoodo & IS PIrdD T wand w;g@B (20080) oS Ho moﬁfl‘ﬁgobé de

Options:

. IR
1. %

, ¢ E-IT

ER
R+r

E—R

Question Number : 85 Question Id : 81356185 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical
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When a body slides down an inclined plane with coefficient of friction p. then its acceleration
will be:

066 EaS0 1 (0 28 TS0 Aot 28 SR & HBH) & BRAE WA, BAVD B
300

Options:

5 b g (sinf@ — ucosf)

i g (sinf + pcosB)

i 8 g (usinf — cos 0)

n gu (sinf — cos @)

Question Number : 86 Question Id : 81356186 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

The limit of resolution of an o1l immersion objective microscope of numerical aperture 0.8
for light of wavelength 0.6 um 1

0.6 um SGo6RG 0 (L 570833 0.8 Sodh (L VG S ':'{11"5.&05\}3 %Qﬁzjdm
"‘—035 i & = ®

3‘%&» g, ©Hd

Options:

1.5
— i
8
1.¢
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Question Number : 87 Question Id : 81356187 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

Four-pomt masses. each of mass M. are placed at the corners of a square of side L. The
moment of mertia of the system about one of 1ts diagonals 1

L TED) (0 w8 BA6RY) w8 1) %‘g.‘m S6 M B3(0°3 (10 SITORY GoUIYYW, &
.ﬁﬁb“g&‘.} AIa N 800 Do RSN &PavSo DD dodh?

Options:

. % 2ML?

2. v ML

2
L x 4ML

4 % 6ML?

Question Number : 88 Question Id : 81356188 Question Type : MCQ Display Question Number

AP EAMCET 2020 _
collegedunia:s

India’s largest Student Review Platform

el



AP EAMCET 2020

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:
Vertical

A flywheel starts from rest and rotates at a constant acceleration of 2 rad. s ™. The number
of revolutions that it makes in first ten seconds 13

D8y0 N8 oW 2 rad. s> NES(GReS Fomren B 8 tgo e 10 2w
500" B FEY Vo
Options:

{, oo

Question Number : 89 Question Id : 81356189 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical
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Four closed surfaces s,. s,. s; and s, together with charges +q. —q and —2q are shown.
Through which one of the surfaces the net flux is zero?

S1, S7, S3 BAKY 5, R TV EHOBVR, TOSIW +q, —q, B0V —2q
STV DLANY’ BIDD DB euaé".a_)bco, 2 GOB3AD (o DSG DT AN
waﬁan?

‘‘‘‘‘‘
-----

Options:

1. %

Question Number : 90 Question Id : 81356190 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :
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On producing the waves of frequency 1000 Hz 1n a Kundt's tube, the total distance between
6 successive nodes is 85 cm. Then. the speed of sound in the gas filled i the tube is

08 S0l FEAS" 6818 0003 Soft T 1000 Hz. 6 W% BB 23
20080 GRG0 85 cm AN, FHANS’ 63) TowS’ 6D Sdw dod?

Options:
1 % 330 m.s7!

, » 340 m. st

3 % 350 m.s~ !

4. B 300 'm.Sﬂl

Question Number : 91 Question Id : 81356191 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

5kg of water at 20°C 1s added to 10kg of water at 60°C. Neglecting heat capacity of vessel
and other losses, the resultant temperature will be nearly

20°C & $8A% Skg B, 60°C &t $DAD 10kg NS DI 0B &g,
(¢ aderon &mgém;, DHBD &8 AT 0 '3 SR Svot)
Options:

35 °C

1. %

L« 40°C

3 @ 47 °C
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. 28°C

Question Number : 92 Question Id : 81356192 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

If ultra—violet radiation of 6.2 eV falls of an aluminum surface, then kinetic energy of the
fastest emutted electron 1s (work function = 4.2 eV/)

6.2 eV 0 ©AVS TS domred ws vur(bdabe D080 DEII. Wd{od Jorr
&g’ﬁuéwdé Jogb aws), (D233 dod? (D Hodo= 4.2 eV)

Options:

19
o 32%107%]
Ly 32X107]

7 %1027

L
4, %

Question Number : 93 Question Id : 81356193 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

. 4% 11 :
In the nuclear reaction .C —— B + f + X. X stands for

6C—— B+ B+ X Sog¢ 561" X D 2rDotDG

AP EAMCET 2020 _
collegedunia:s
India’s largest Student Review Platform

el




AP EAMCET 2020

Options:
a neutron
WS AT

an electron

28 JUSD

a neutrino

S ArBS

an antineutrino

- 28 Doddr(BS

Question Number : 94 Question Id : 81356194 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

1 kg of steam at 150 °C 1s passed from a steam chamber m to a copper coil immersed i
20 litres of water. The steam condenses in the coil and 1s returned to the steam chamber

as water at 90 °C. Latent heat of steam is 540 cal.g™*. specific heat of the steam is
1 cal.g™*.°C™*. Then. the rise in temperature of water is

8 820 DS B00d 150 °C 3¢ 1 kg DS D63 20 Hoog HAS* 2wy T
EE"D8 HodTE. ous” D DB BN Bod 90 °C H¢ AT 5B HidS
&% 86N BAR. Land, A eded’ dixbde . I wran@dd daaw
= 540 cal.g™* 0803 A8 5B DITaw = 1 cal.g™.°C™*

Options:
1 % 7820

, % 60°C
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2 305

4 % 20°C

Question Number : 95 Question Id : 81356195 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

If a unit positve charge 1s taken from one point to another over an equipotential surface, then

W5 'r’OIl}%‘Sé GEO0BVA O WE VAT G 3):395::“;3?301 28 DotY) Aow) HFE Do
SR8 Sﬁa‘héﬁb‘)@

Options:

Work 1s done on the charge
. 830D 2 D AU

Work 1s done by the charge
€502 D) WA

Work done 1s constant
2088 D :{gom

No work 1s done

4 o VB0 DY 2T

Question Number : 96 Question Id : 81356196 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:
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Vertical

A plane wave y = a sin(wt — kx) propagates through a stretched string. The particle

AP EAMCET 2020

velocity versus x graphat t = 0 1

FARDRCS w8 BBS’ ¥ = asin(wt — kx) 6L 28 FE6R Sboio DAIrENA. t =0

36 sadrfo (T agﬁ)

Options:

A

:'"Ilﬂ

\

1.¢

Y\

\/x-..

\\/x..

2. %

/\

\/ \/x—r
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Question Number : 97 Question Id : 81356197 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

An airplane flies 400 m north and 300 m south and then flies 1200 m upwards then net
displacement 15

28 DAFHA0 400 m &6 B3S", 300 m GEnaw D) ShTS 1200 m DHAS A0S O
ga@oam

Options:

1400 m

1. %

1500 m

1200 m

1100 m

Question Number : 98 Question Id : 81356198 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:
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A pure number which determines the type of flow of a liquid through a pipe 1s known as

(1800 (T 200 ¢)d DTTESIVA AR 26 H0E Do)
£ 3 A

Options:
Reynold’s number

7 o évg SEEM

Bemoulli’s Number

856 O Do
, » S0 Romy

Pascal’s number

R85 Do
3. % -

Torricelli’s number

- &'8ad SEE
4, ®

Question Number : 99 Question Id : 81356199 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :
Vertical

Work done

WD D

Options:
Can only be positive

; STd) So ATCHa) 9BV
1.
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Can only be negative
2ET'B) So AP0 9BV

Can either be positive or negative

i AT S) So oo 20ETD) So SPe)lablote

Cannot be assigned a sign

- DS G 3T BotdT AN
4. %

Question Number : 100 Question Id : 813561100 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A gas volume 251 cm® at 20 °C and pressure 78 cm of Hg. Find its volume at N.T.P.

20°C 68 &8) 8 Tan) 2RBArEo 251 cm? Sobat Sédo 78 cm of He. w00

N.T.P. 3¢ 0308rerd) $808) od.
Options:

w420 cm’

440 cm?®
L.

240 cm?®
3. v

100 cm?
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Question Number : 101 Question Id : 813561101 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Frank and Hertz experiment proves that

oS 0B 7 e DATTTTE) SAWMT DETWDE

Options:
Light moves in the form of waves as well as particles
S0 SR BGort Eradrees’ Dot

1. %

The electron does not radiate energy while moving in an orbit

28 S£(6° VTR BAMBIY Y B0 28 D B
2. % =

The energy states of an atom are quantized

DOATENY 3§ Foew SBR[ BodDD
Y

The whole of the +ve charge of the atom is concentrated in the nucleus

B DOATEVRQ) DVBDD GT DB SoGBSIN O S0 SBotdeICO

Question Number : 102 Question Id : 813561102 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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An electric dipole 1s situated 1 an electric field as shown 1n figure. The dipole and electric
field are both in the plane of paper. The dipole 1s rotated about an axis, perpendicular to the
paper. at point A 1 anticlockwise direction. If the angle of rotation is measured with respect
to the direction of the electric field then the torque for different values of the angle of rotation
8 1s correctly represented by which graph among a, b. ¢, d given mn fig(b)?

D008 BrdD Do 8 DANS BIB)TD) 28 DS EYo” Gotre. BGdo, £do
Gotir 8 SN0 Bwod’ &) an. A Dot I & BE)T) 57 B8 Votom &)
8 B0 DO LHVI(BIS" o B0, A Fe tao(B) sy JEo® £8
&% Doorr S, HBzn Serds v £r6), Dio-(b) &° wrdd a, b, ¢, d o & &I
AP0t B0 ? |

Options:
(a)

1. ®
, ¢ (@)
(c)

3. %

_(d)
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Question Number : 103 Question Id : 813561103 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

When 50 g of water at 10 °C 1s mixed with 50 g of water at 100 °C. the resultant temperature s

10°C 565 50 g 93 100 °C 3¢ 50 g NS 68058, H0s &Trse

Options:

; u BOFC

Y, 85 °C

s x B

45 °C

4, %

Question Number : 104 Question Id : 813561104 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The variation of electric potential with distance from a fixed point 1s shown i figure. What 1s
the value of electric field at x = 2m

8 6 Dorddid) 3¢ Aot GEroe” Srdnd DS TOJHS dwe), Srddy o

HOAS” BrREIE. X = 2m GrEAW 96 S £B:0 D0 dod ?

N/

V(Volts)

2

> x(m)

Options:

Question Number : 105 Question Id : 813561105 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A calorimeter contains 0.5 kg of water at 30 °C. When 0.3 kg of water at 60 °C 15 added to it
the resulting temperature 1s found to be 40 °C. The water equivalent of the calorimeter 1s

8 369 GE" 30 °C 365 0.5 kg AKD)B. 60 °C 3686w 0.3 kg A 06" 588
6T 40 °C T (hBorr. 360 i) ey 20073

Options:

.« 025 kg

™, 0.1 kg

3 % 0.2 kg

n 0.25 kg

Question Number : 106 Question Id : 813561106 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If a vessel contaming a fluid of density p upto height h is accelerated vertically downwards
with acceleration a,. Then the pressure by fluid at the bottom of vessel 1s given by the equation
(P, denotes the atmospheric pressure and ‘g’ denotes the acceleration due to gravity)

p ol (10 TrEr) w8 TG h B0 H6L Joa, 8 G ILISIT S0 a, B(Gea0

BB BODIT, &8 g D ePon HIASOM GIYDERo LG (P,

TTH00 Do 0Bak ‘g’ S Bdto)

Options:
P = Py + pgh + pha,

T« =
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P=P,+ ph(g—a
- 0 p(g 0)

Question Number : 107 Question Id : 813561107 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Weak nuclear force always operates between

GO6© SodS eeren D8 S0 DABI 0w

Options:

Electrons and neutrino
DU S80I ATBSen

1. %

Heavier elementary particles

- 2P0 PGS SETUD

Charged particles
“ €5 DI SeTeD

All the objects in the universe

DI 6°D B G57L WP
4. %
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Question Number : 108 Question Id : 813561108 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A 3 m long steel wire 1s stretched to mcrease its length by 0.3 cm. Poission’s ratio for steel 1s

0.26. The lateral strain produced i the wire 1s

3m TEP o w8 &8y B FAdobrr TP sdHD Ftbdw 0.3 cm. &Ly, awe),
Jroward G 0.26. 36 s :)-’695053 Y

Options:
- 0.26 X 107*

 0.26 X 1072
2. %

=3
3 o 0.26 X 10

- 0.26x 1071
4, %

Question Number : 109 Question Id : 813561109 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Why 220 V AC 1s more dangerous than 220V DC ?

220V AC 808 220 V DC DATESC0000H. 5600

Options:
The DC attracts
 DC 380822008
1. % o=
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Peak voltage for AC 1s much larger

AC cing), 36 Sds orer DS, D
2. ¥ ©

The body offers less resistance to AC

L« AC Dadgans #6620 85, S DAVOD BV

Due to some other reason

4% RSO SOFL SV

Question Number : 110 Question Id : 813561110 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A body is moving with an initial velocity of 102 m.s™* in the north-east direction. If it is
subjected to an acceleration of 2 m.s™ directed towards the south, the velocity of the body

after 5 s 15

28 S0P 10V2m.s71 §8 Drio DA, &ds-drddy B36° Hoiredocinedd) 8. ordp i
365" 2m.s™° BBro SABR), 55 S0 SHTS &8 SR0Y Mo

Options:
10 m. s~ 1. towards east

& 10 m.s™! Sy 2

10 m.s 1. towards north

, » 10m.s™! &dbe 2

10 m.s 1. towards south

L % 10m.s7! Gdmo 2

AP EAMCET 2020 )
collegedunia:s
India’s largest Student Review Platform

el



AP EAMCET 2020

10 m.s 1. towards north-east

s | v
4% I0m.s * &FRE00 22D

Question Number : 111 Question Id : 813561111 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A current ‘I" A flows in a circular arc of radius ‘r’ subtending A B
an angle ‘0" as shown i the figure, Find the magnetic field at
the center O of the circle.

O0308" B DS I A xS PRI 77

TR0, §a0 (1) 28 HTSY G0 CNS), Sogidn

0 56 A6 D08 £B:0 SYA.

Options:
oo
1.« 4nr

2Upl.sin 6

2. % 4mr

2Upl.sin 6

3 ® 27

2Upl.sin B

Question Number : 112 Question Id : 813561112 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

The current in a coil changes from 3 Ato 1 A 1n 0.1 s m a coil of self inductance 8 mH. The

emf mduced m the coil 15

030088 B8 miH o Sricotys” Deoye 0.1 sec &° 34 Aol 14 £ &rd8. Sricoee”

208208 DANE LSWOZD

Options:
16V

1%

- 1.6X10°%V
RS

-2
3.J16X10 vV

4. % 2V

AP EAMCET 2020

Question Number : 113 Question Id : 813561113 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Acceleration due to gravity

rbd)é_géscseann

Options:
increases with altitude
DB oD Sd DD

1. %

decreases with altitude

DehoS HridO
TP 0
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1s independent of altitude

5 DS ATFGED

first decreases and then increases with altitude

DG 3D SIS JB0S” DEWRD
4, %

Question Number : 114 Question Id : 813561114 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If mass, speed and radis of the circular path of the particle are increased by 100 % . then the
necessary force required to maintain the circular path will have to be mcreased by

53 Srgans’ hrdud) Snaw, GTI, 3¢, TEGA 100% HBS, ed 33
4760080 883 Aot 560 BALE' HAXHEL TEAD.

Options:

- 100 %

250 %
2. %

0
3 300 %

400 %
4, %

Question Number : 115 Question Id : 813561115 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical
There identical uniform solid spheres each of mass ‘m’ and radius
‘r’ are joined as shown n the figure. with centers lying in the
same plane, The moment of mertia of the system about an axis

== —— e ——

Iying 1n that plane and passing through the center of sphere C 1s

m’ @GO3, 1 anpgm; 0 S0P ROWATD D0

Awren HO3NS" tradty, T8 Somrod w8 duswd” sOA

&) 0. &8 AP0 € Sodw (ot J'dr, & dwod &)

25(S06 Brad) @80 Dot O[OR ES PSAW BVDoG.

Options:

16
PS ﬂl?'z

1.4 2

12
gy Tﬂ-?"z
2. % O

3 % 4 n'l'rz

3
— mr?
4.% O

Question Number : 116 Question Id : 813561116 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Unit of pole strength of a magnet 1s

€900 o0 CINE). BHBRT (IS DAL

Options:
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4 A.m

Question Number : 117 Question Id : 813561117 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The ratio of the slopes of 1sothermal and adiabatic curves 1s

amgs,

o°

BRS Sgmv Trew B

Options:

Question Number : 118 Question Id : 813561118 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

Kepler's second law (law of areas) is nothing but a statement of

D6 Bottd AADXAW (THFrTre JabHiusw) DSTIHA0

Options:
Work energy theory

 DD-3S DToshAD
1. ® -

Conservation of linear momentum

_ BDaD () Des Dy
2. %

Conservation of angular momentum
., Stiob B5) D Dy

Conservation of energy
n 3S QA(SAW

Question Number : 119 Question Id : 813561119 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In a Potentiometer experiment the balancing length with a cell 1s 560 cm. when an external
resistance of 10 Q is connected in parallel to the cell, the balancing length changes by 60 cm.

Find the internal resistance of the cell.

FEair Db DA’ Hodowd TE) 560 cm (weed). 20erd3 10Q e
ABEY) RredE Voo BRI Vodowd Te 60cm Srdyy BoBHE. o
G, ©oB8) BT g8 )06

Options:
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1Q
, s
1.2 Q2

, 218

Question Number : 120 Question Id : 813561120 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A particle 1s projected with a velocity ‘v’ such that its range on the horizontal plane 1s twice

the greatest height attained by it. The range of the projectile is (g =acceleration due to gravity)

8 STPQ) V" SAAG” HEDA BIYE £82 VATFoSToTT Te) OB BA (103 AL
0802 ©ONAA. PEDSTAN T Jod? (g =BrAxdd S(Gto)

Options:
402
1.v 98B
4g
X R
22
3.% B
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By 2
4. % \/Eg

Chemistry
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40
Section Marks : 40
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required?: Yes

Question Number : 121 Question Id : 813561121 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Choose the smallest ion from the following

S0l TS AR OISR Do Waoed

Options:

2+
1.e Mg

2 % 57

Na®t
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o BE

Question Number : 122 Question Id : 813561122 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Examples for bactericidal and bacteriostatic antibiotics. respectively are

SoR°DeS” HART R E) 2HVR oD BAk0 ArE) RO N8 Botd

QoSS OL) ErrrEreD

Options:

Penicillin. ofloxacin

DADDD, LI’ y0d

Erythromycin. Tetracycline

o i DBS DODD, BETrRED

Penicillin. Chloramphenicol

2AHD, EvrondE'S
3. ¥ "

Tetracycline. penicillin
SRS, DANOS

e

Question Number : 123 Question Id : 813561123 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following 1s most stable form. for the given structure. after rearrangement?

S08 TS QNGBS 2000 S6Td Eﬂéﬁoé fgdman?{‘. ErHA0 8 ?

CH;
|6
H:C — C—CH:
|
CH:
Options:
CH;
| e

" n H;C— CH — CH-

CH:

HiC — C —CHs

2. ?

CH_:—C'H—C H;_CH;;
P

S
CHa>

: (H¥—CH-—CH>»

4. %

Question Number : 124 Question Id : 813561124 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Which of the following chemicals can be added for sweetening of food items at cooking
temperature and does not provide calories?

03556 Sogeld SO0 DO R0 oW Hob) c-:ggau 3¢ 8e) 00 0B B DDV
308 T°¢) o) Do WOk
Options:

Sucrose
, x F0ES

Glucose
(€S

Fructose

>

Sucralose

o 208e5°%

Question Number : 125 Question Id : 813561125 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following sets of species have similar bond order?

SoBTS” 28 Lol SATroso SHAD 33D BoIC..

Options:
Vi +
- N, ,0, ,NO
2_
N F, ,0
5> % 23 &2 2
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2_ -
3 % N2 INZ ’02

N, ,CO,NO"
4.9

Question Number : 126 Question Id : 813561126 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The cyclobutanone of semi carbazone is represented as

A TEE'S aiwg), pEArSS T BOPOEIS0E

Options:

N—C—NH—NH
|

_ 0
1. *
O
[
= N—NH—C — NH,
g
0
I
NH=NH— C — NH;
3. %
0
1
C — NH — NH;
4. %
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Question Number : 127 Question Id : 813561127 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Decreasing order of acidity of the following terminal acetylenes is

S0l eody 589D €208 A30E), VO TP $0H0

H H I|I H
| |
I I I I
CO;Et OCH3; CHs
) (ii) (iii) (iv)
Options:

- (i) > (i) > (i) > (iv)
, o D> @) > Gv) > (i)
. x D> (v) > G) > (i)

, x @ > (i) > Gv) > (i)

Question Number : 128 Question Id : 813561128 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

In which of the following substances will hydrogen bonds be strongest?

$068T°S° )0t} Sotd DS I TERD LOTFL VAL (U AB?

Options:

Question Number : 129 Question Id : 813561129 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The geometry with respect to the central atom of the molecules N(SiH;); . Me;N, (SiH;);P
respectively are

N(SiH3); . Me3N, (SiH;)5P 06 dsf d6:rmos) G Senr 8,0/24208 00 ST

Options:
Planar, pyramidal. planar

NeDVo, w55°do, RS0

1« =

Planar. pyramidal. pyramidal

, PSWo, ArE(S°Co, ATT [5G0
2. ¢
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Pyramidal. pyramidal. pyramidal

R Er{S°Co, LS 0o, ArLP(S™Co
3. %

Pyramidal. planar. pyramidal

ArEr(s o, DBV, AFE(S"Co
4,%

Question Number : 130 Question Id : 813561130 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A gaseous muxture of 3 gases 4, B & C has a pressure 10 atm. The total number of moles are
10. If partial pressures of gases A & B are 3 atm & 1 atm respectively and if molar mass of

gas ( 15 2. calculate the weight of € in the mixture,

S0 10 e (L A, B 200050 € A PG 7050V QB0 G330 10 atm.
A 208050 B Tasn)en 48 ¢ SGIM 3 atm 0605w 1 atm, G5 € T
A0erd GH0-3 2 wows, D30A08" € a3E), &PEA0d?

Options:

Question Number : 131 Question Id : 813561131 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Choose the mncorrect statement among the following

A. The reactivity of aromatic aldehydes and ketones 1s less than that of aliphatic carbonyl
compounds towards nucleophilic addition reactions

B. Benzaldehyde does not give Fehling's test

C. The H atoms in ethanal are acidic in nature

D. “p-Nitro benzaldehyde” is less reactive than “benzaldehyde” towards nucleophilic
addition reactions

SoBTA" 00 T PIVTA) BwDoC,
A. APEaar HBS RosuRd w6 Db AB TS edrd obow 86°) dorj s, Jpis
570\ ) ¥V St B8,
B. 8oz Hofh HOLR I
C. &GS ¢ (o H DOArm0Pen ) Aerddn sOA Gotrow
D. Argair 285 Dosud 6L & Bordiré 8 p- A Boadird S8y S S0

08 SO &otnod

Options:
1. % A

4. v D

Question Number : 132 Question Id : 813561132 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The solubility product of Ni(0H), at 298 K is 2 X 107*° mol3.dm™? .The pH value if its

aqueous and saturated solution is

298 K 36 Ni(0H), gradoser opan 2 X 107° mol®.dm™. wowd, o Rody)

B0 A0E), pH )

Options:
5

1. %

Question Number : 133 Question Id : 813561133 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Assertion (A): Boron has a smaller first onization enthalpy than beryllium.

Reason (R): The penetration of a 2s electron to the nucleus 1s more than the 2p electron hence 2p
electron 1s more shielded by the mner core of electrons than the 2s electrons.

5,086 (A): 'S, 50B00D> ot B8 Ao Jordyd §D 6)6

5%600(R): 25 JUTS dE, FENER T 038, 2p S aws), FeiED T b S0t
o)s:%a. 5N, 2P o}og’s, o0 avﬁ S0 2s o)ug'ﬁ ST BT 862 otdecod00d
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Assertion and reason both are correct statements but reason 1s not correct explanation for assertion.

il (0566 B0 S6e0 TotT 0 BB T8 TGt BNLEHL VB LAV JBL6H T

Assertion 1s correct statement but reason 1s wrong statement.

e B5yDSBE? DB ONDA S°R) TG0 By

Assertion and reason both are correct statements and reason 1s correct explanation for assertion.

GyRE068 OO S6E0 Tok B LA B S6t0 BRL6HL PO J3AEBeDd
3. ¢

Assertion and reason both are wrong statements.

4w CHDSOE 20BAH SBrB Botr S,

Question Number : 134 Question Id : 813561134 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Among the following oxides. which one 15 weakly basic and yet a powerful oxidant?

300 85\E VE° WP TN VAT WOV BSSOET SFT Gold DB ?

Options:
CO,

1.%

$no,
Si0o,

PbO,
4.9
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Question Number : 135 Question Id : 813561135 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

One mole of oxygen gas at STP 1s equal to

STP 58 28 7S 852 TABWY 80 VAT

Options:

6.022 X 10%3 molecules of oxvgen

_ % 23
_— 6.022 X 10 e9e0DO S VB

6.022 x 10%* atoms of oxygen
6.022 X 10%° DOATEDYHL S \BD

16 g of oxygen
16 g © &8 \8S

3.2 g of oxygen
3.2 g 0 &5 \8J

Question Number : 136 Question Id : 813561136 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find the correct equation among the following

087" VBID DASCETY) BwDod

Options:
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E
InK —lnd ==
RT

AE,
% RT

E
InK +1ln4 =—
3, % e

-Ei: In4d—-—1InkK
RT

4,

AP EAMCET 2020

Question Number : 137 Question Id : 813561137 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Calculate the wave number and frequency of orange radiation having wavelength 6300 A.

6300 A 860 B, i 9o Gord Do G10g), St o] 22008 AT Aoctod

Options:

1.587 x 10%® m™1

1, %

1.587 x 10* m™1
2, %

1.587 X 10® m™!
3. ¢

4 % 1.587 x 10® m™1

4

!

4.761 x 101® 71

4.761 x10** 571

4761 x 1014 s1

4.761 x 101® g1
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Question Number : 138 Question Id : 813561138 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The products in the reaction given below are ‘o denotes a free radical

S0l :::oﬁe? &3\) 0 80T S dPHTaR? B 6 (*) AETy FADBS Ao

CH, CH, CH,
H—¢e + Cl » H—C—Cl + Cl—C—H
C,Hs C,H C,H

Options:

Meso forms

;% Y drSeen

Racemic mixture

BE DB20A0
2.¥

d and [ forms
. i d H0dain | drdren

Cis-trans 1somers

RDE-DDE F BT (e
4, %

Question Number : 139 Question Id : 813561139 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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160 g of non-volatile solute ‘A" 1s dissolved in 54 ml of water at 373 K. What 1s the vapor

pressure of aqueous solution of A. (given molecular weight of A= 160 g.mol™)

160 g ‘A’ ewfq;)%’u o) 54 ml DBS* 373 K 96 SBAoTrEd. ‘A’ 20 T
aR08), iy DEDAD od? (STrRNA: A W), wxrd= 160 g mol™)

Options:
760 Torr
. % 760 ¢er6

720 Torr
720 &6

2. %

570 Torr
3 570 &6

450 Torr

4 % 450&06

Question Number : 140 Question Id : 813561140 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

“The properties of elements are periodic functions of their atomic weights.” This periodic law
was given by

QrUSET) ) T8O HEFETETTY $960 DA, & 86D AADATD) AW

Options:
Doberemer

1, n SO0
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Lothar Meyer

L o 866 o006

Mendeleev

3.4 2000

Alexander

e odid
4, % &

Question Number : 141 Question Id : 813561141 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A 40% HCI solution has density 1.2 g.ml™*. The molarity of the solution is nearly

40% HCl gradeadn med 1.2 g.ml ™! 0ond, & mronsw Jredd ooy

Options:

% 11M

, 12 M

3. 13 M

14 M

Question Number : 142 Question Id : 813561142 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

“Copper matte” 1s composed of

'Be00 A58 RoLNAD

Options:
;% Cu,S & Cu,0

5 Cu,S & FeS

3 % CufFeS, & Cu,S

o CuS & FeS
4, %

Question Number : 143 Question Id : 813561143 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

10g of NaOH 1s dissolved in 500 ml of aqueous solution. Calculate the molarity of this

solution? (Formula weight of NaOH = 40 )

500 ml © 20 s’ 10z NaOH $8Rctrd. & oo arerdtsd fowed? (NaOH
&daéer: 40)
Options:

-3
| % 05 x107° M

, % 0.4M
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025x1073M
3. %

4 @ 05M

Question Number : 144 Question Id : 813561144 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following statements 1s correct?

A. There is a complete order of molecules in gases
B. There is a complete disorder of molecules in gases
C. Molecules are not always in random motion in gases

D. Molecules are fixed at respective position i gases

808 DIVTVS” B D2AN?

A TP050 @D QPO ST G0t

B. Jroin etnoe” Qo S0P (AT G0

C. a5 PN B VoRGMNVE” SrEDNS BORINS” GoGs 'Sy
D. JPa50 e980:)e Dgg g"a“ue‘i‘ £9:308 ot

Options:
A

1. %
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Question Number : 145 Question Id : 813561145 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

In which of the following reactions of H,0, acts as an oxidizing agent (either i acidic.
alkaline or neutral media)?

306 BO[RS" H,0, 63,868 ST S6[0 Buded (v Or w6 O SR

arq55ane5‘)
.  2Fe** +H,0,——
ii. 2Mn0, +6H" +5H,0,—
i, L+H,0,+20H —
iv. Mn®" 4 H,0,—
Options:

1% (11). (111)
, o @)
NCNGY
4w (D). (V)
Question Number : 146 Question Id : 813561146 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Glucose does not react with which of the following

ArEE 8oBT°S" BIS’ B56[ BADE?

Options:
., NH,OH
| P

, % HCN

3 % Br, Water

NaHS0;
4.9

Question Number : 147 Question Id : 813561147 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find the observed EMF of the cell Cd | Cd**(0.01 M) || Cd**(0.01 M) | Cd under
conditions, nternal resistance = 4 () and producing a current of 0.154.

(Given E% g2+ /¢, =035V and E g2+ /cq = —04V)

cd | Cd**(0.01 M) || Cd**(0.01 M) | Cd EAS A0S’ 5090otscshd EMF titdotsocd.
0080 Boddd A0 = 40, 2Bk &) :aa;pmw‘ 0080 0.15 4 Deiofdowd

&30 BR0%) 8. (Sgrodd: E%p 2+, = 0.35V 0Bakw E%p et g = —047)

Options:
1 % 0.75V

5 o 0.15V
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. 0.6V

09V

Question Number : 148 Question Id : 813561148 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following 1s most commeon in alkyl halides?

$oBTIS” &g &S FPTES” F o 2006 I6?

Options:
Nucleophilic substitution

| mlgéo}r’.b@é NAEDE
1. ¢

Electrophilic substitution

.'ng 208 HAZHE

Electrophilic addition
Dvgi‘_)@é DoSdA0

Nucleophilic addition

ar?gcé;cﬁr:a@é RoSLNAD

Question Number : 149 Question Id : 813561149 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Which of the following is an extensive property?

2oBTS" DB DI G (6} 207

Options:
Temperature

1.8 €

Volume

0DDBATEISD
2. ¥

Pressure

g x DEDIW

Question Number : 150 Question Id : 813561150 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The correct statement about Cr?* and Mn3* among the following is

(Given. atomic numbers of Cr = 24 and Mn = 25)

Cr?t 28a30 Mn?t 09 Dotrodor). S0BT°VS° DB 90NVD DIV

(Cr DB Qo 24. Mn DB Q03 25)

Options:

Cr2* is a reducing agent

e crit EX(NELh
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Mn>?* is a reducing agent.

. Mn3t £§0308683

Both Cr?* and Mn®* exhibit d° outer electronic configuration.

Cr2*, Mn3t Bod>r d° e DUSD :)::y::m 2638 yoes
3, % S

When Cr?* is used as a reducing agent, it attains d° configuration.

Cr?t & g1osoB TASDYE 08 d° DTREN0 TFowomd
4. %

Question Number : 151 Question Id : 813561151 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Two metals A & B having similar 1onic radii. react with oxygen to give only monoxides. and

react with nitrogen to give nitrides. Then. A & B respectively are

Boct) &'dFe A 500050 B itrth 0 0ird8-Tj oo $9h afiod, 3128 &
0] ToBRYYE T8O ArTFER ArGd . DBk AR & o) TodBYy
T8 D86 R0, B, A 208050 B v HEIT

Options:

Li and Na

~ Li &08050 Na
1.9

Na and Ca
_ Na S00asw» Ca
2. %

Liand Mg
Li 08030 Mg
3V
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Na and Be
Na 003w Be

Question Number : 152 Question Id : 813561152 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Isochores are drawn at

DT S¢ Hiob wderan

Options:
Constant volume, Pressure vs Temperature

256 DODDOATRAD, HEDAD Vs &'
1.4 ¢ -

Constant pressure. Volume vs Temperature

0 DEDA, DDIDDBATEIAD VS e

Constant temperature. Pressure vs Volume

26 e, DEDAD VS DDIDDBAT LS

Constant temperature. Volume vs Temperature

D6 ENHS, DDIDOATTEIAD VS &N (5D
4. ® ° ”

Question Number : 153 Question Id : 813561153 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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How many lone pairs of electrons are present in a Hydroxyl ion?

25845 ©0IPS” ) wotdd Dvgs 2oteD SO ?

Options:
Two pairs
x O0CD 208080

Three pairs

> % DATPCD 20880

One pair

3 5w WS 2ol

Four pairs

Y, e 200

AP EAMCET 2020

Question Number : 154 Question Id : 813561154 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The insecticide DDT i1s considered as

DDT S0%03350¢30

Options:

Greenhouse gas

1%

Biodegradable pollutant
~ 2O J\D) & 266 (0 STR(S 00

2.

. ARTTD Troid)

AP EAMCET 2020
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Non-biodegradable pollutant

il 23 M()é‘_l@ 20605 SPR(S"ES0

A fertilizer

5. % SO

Question Number : 155 Question Id : 813561155 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Geometrical isomerism can be found in which of the following?

£S B0 Sob @) DAY TS WrcrvB?

Options:
Butyric acid

Q(0S 30w

Aspartic acid
008 e

Palmitic acid
- 838 es2050

Cimnamuic acid

?aa‘laoé 2320550
4.« i
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Question Number : 156 Question Id : 813561156 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following polymers exhibit hydrogen bonding?

Sod TOS° TEBD Lorren P ot D6 D&?

Options:
Polyvinyl chloride

0D Eo&

Nylon-6. 6

v, DerD-6,6

Neoprene

DD

Tetlon
ST

Question Number : 157 Question Id : 813561157 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Acidity of BF; can be explained on the basis of which of the following concepts?

BF; adwg), 857y S0BT S B LITFGAMM Da&sauaamam?

Options:
Arrhenius concept

% 298D 2PD
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Bronsted Lowry concept

> % gﬁ':géej“’b 2I° DD

Lewis concept

5 ¢ BP0 2°HD

Bronsted Lowry as well as Lewis concept.
4% e V& 70 EO0ID VIR0V WP

Question Number : 158 Question Id : 813561158 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The correct order for wavelengths of absorption 1n the visible region for the following
complexes will be

200 o) 00} YTV Gy3[E0d Fodod §iam BB ® PO S0 DB?

Options:

. % [Ni(NH3)6]** < [Ni(H;0)6]*" < [Ni(NO3)g]*"
5 o [Ni(NO;)]*™ < [Ni(NH3)s]** < [Ni(H,0)6]*"

3 % [Ni(NH3)e)*" < [Ni(NO;3)e]*™ < [Ni(H,0)6]**

4 % [Ni(NO,)g]*™ < [Ni(H,0)6]*" < [Ni(NH3)¢]**
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Question Number : 159 Question Id : 813561159 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the compounds among N,0, NO, N,0;, NO,, N,0,, N,0Oc are diamagnetic?

Nzo. NO, NzOg, N02, Nz 04, NZOS UES‘ (~lovhy U@ﬁ“&)ﬂ@ ‘QGJ”J":)l Saﬂ &oé
) e a) ?

Options:

1 % NQ, NOz, f\r203

) JNZO» N203, N304, N305

_ No, NO,
3. %

4 % N204r NZOS

Question Number : 160 Question Id : 813561160 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

BF; 1s used as a catalyst in several industrial processes due to its

BF; &0 0938 J07°:08 DS0HOS” &3\6SA0M T8 (50 58880

Options:
Strong reducing nature
LIR0A £00S506 “fosa_.:r";bm

1. %
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Weak reducing action
QOIPRAOVR LADSCE V(IO

Strong Lewis acid nature

BIVSVONR PO €330 (AT
3.¢v iy

Weak Lewis acid character

4 % BIRVLTPRLDONDRD LI €5 QRS0
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